Accounting Redux

Having looked at two reading groups worth of study notes the biggest difference was in the interpretation of the accounting ratios.  Due to this difference I decided to take a fresh look at the numbers and see what I could come up with.  Due to the sheer mass of data I think there is some merit looking at the best and worst year as well as the average year.  I also think a trimmed average might be illuminating.  I even threw in the median because I had one column left on the worksheet.  I then will cut and past in the other opinions to see where we differ.

J Says: In summary, Nucor did not have immediate cash flow problem.  Its current liquid assets are sufficient to cover its current liabilities as well as its capital commitment for the new JV.  However, if Nucor insisted on investing in CSP plant but did not change its existing financing policy, Nucor would have serious liquidity problem.  If Nucor had to invest in CSP plant, it should either issue stocks or to borrow long-term debt to finance this investment.  Since the CSP would take 2.5 years to complete and 2 more years to reach rated production capacity, Nucor had to borrow long-term debt with a term of 5 years or above.  If Nucor was to issue stock to finance the investment, it could issue stock according to the anticipated payment schedule, which was $100 million in 1987, $250 million in 1988 and $60 million or more in 1989.
Profitability Ratios

Every one of these numbers is positive over the entire 14-year span.  They are clearly profitable but steel is obviously not a high flyer in the early to mid 80’s.  The industry is cyclical so a rebound could be eminent.

S: Firm shows great ability to grow without compromising its profitability and has been able to utilize its investments for the benefits of its shareholders.

J: This implies that Nucor is not using its funds effectively.  Although Nucor focus on investing in fixed assets and plant facilities, which is in line with the increase in capital expenditures in Exhibit 6, there is no improvement in profit margin, i.e. earning ability.  This is also due to their emphasis on increasing capacity rather than on reducing cost.  The profit effect as a result of an increase in sales (because of the expansion in capacity) is offset by the increase in cost at the same magnitude.

ROE

The worst year was 10% in 1982.  The best year was 38% in 1979.  The average year sees about 20% return on equity over a decade which is not too shabby.  Things definitely peaked in the end of the 70’s beginning of the 80’s but never slipping below 10% which is admirable from a potential investors point of view.

S  says:

· Peaked in 1979 at 38%, then declined.  From 1982 has been increasing irregularly from 10% to 13%  
· ROE is consistently larger than ROA, therefore firm utilizes its leverage to the benefit of its share holders.
· Most notably, Long Term debt has been declining almost constantly so one could speculate that management has been able to squeeze even more utility out of each dollar of debt.
· Since Nucor has been growing, it has still been able to return a healthy return to its shareholders.
· This firm generates a better return for its shareholders per dollar of asset than firm X, therefore Nucor has utilized its assets better than firm x and is improving.
ROA

The worst year is 1982 and 1983 with only a 7% return.  The best year was once again 1979 with a 20% return on assets.  Nucor has a plant level goal of 25% ROA but the additional overhead of head office, although minimal should be a negative effect however it is clear that a lot of mills aren’t making this goal.  The peak was at the end of the 70’s again with depressed results for much of the 80’s.  The average for the period is between 11 and 12 percent.  Investors may be pleased with these result but internal management may not be.

S says:

· Peaked in  1979 at 20% , then declined and then in 1982 followed an irregular increase from 7 to 10%.  
· From 1981, ROA fluctuates up and down between 7 to 18% over this five year period.  

· Since Nucor has been growing, it has still been able to return a healthy return to its shareholders.

· Nucor’s ROA is larger than Firm X thereby indicating it generates more profit than its competitors per dollar of assets 
ROS

The worst year was 1983 with only a 5% return.  The best year was 1979 with a 10% return.  In recent years return has leveled off to about 6% with the average being about 7%.  Margins in the steel industry can not be that great it is practically a commodity with little differentiation these ROS numbers seem to support that assumption.  Investors should know there are no fat markups on steel and not be surprised.  Nucor makes a profit (return) on sales but a fairly modest one.

S says:

· For the last 4 years, since 1982, it has been shown an irregular plateau.
· Since sales have been increasing, this shows management has been able to generate the approximate same amount of profit out of each dollar of sales.   
Financial Leverage

There is a lot of difference between the best and worst year.  Since this is ROE-ROA that implies that possibly one number was really big and the other really small one year.  The min year for this was 1982 with only 3% leverage.  The max year was 1979 with 18%.  In 1979 ROE was 38% and ROA was 20% not exactly the scenario I proposed however it is clear 1979 was the most profitable year for Nucor and all measures of profitability have declined since.  There is some hope for better returns in the future as Nucor was profitable during 1982-3 which was the least profitable two-year span in the company’s history (1972-1986).

S says:

· Increasing irregularly from 1982 from 3 to 5%

· since this value is consistently positive, one could comment that the management is exceedingly talented at utilizing the firm’s debt to the benefit of its shareholders.

· Note, since Long Term debt has been continually declining without appreciable loss to FN L you could speculate management has been able to squeeze even more return out of each dollar borrowed to create an FN L value that is increasing from 1982
Leverage

I’m not a big fan of some of these ratios; if I was picking rations I wouldn’t have used Financial Leverage or even ROS above.  I would likely choose 1 or 2 from each section and say why they are important to this company, this industry, or this set of numbers.  ROA above is used internally to evaluate performance and by far is the most important ratio to Nucor.  ROS isn’t going to reveal much due to the nature of the industry.  I’m going to do 3 but capital structure leverage is right out of my analysis.

J says: Nucor relied heavily on current liabilities to finance the long-term capital expenditures.  This led to a potential liquidity problem if Nucor persisted in financing its long term investment by short term liabilities.  Nucor may not have sufficient fund to repay current liabilities when they fall due in the near future.

Common Equity Leverage

This is net income over net income plus interest expense.  It’s important to remember what the ratios measure.  I already knew that they had a number greater than one some years which shouldn’t happen unless the interest expense was negative meaning they made more money on interest then they paid.  This is a good thing to have happen from a balance sheet point of view but could just as easily be interpreted by potential investors or hostile takeover vultures that the cash is sitting around unused.  The average seems to be about .95 with the best year being 1985.  They were above one in the late 70’s and since 1983 on.  This means they were very conservative in 1982-3 which was their worst years holding on to money in safe investments and paying off debt.  Now that the worst seems to be behind them I think Nucor is ready to spend.

S says:

· From 1982, has increased from 0.8 to 1.1

· A large level of this ratio means that Nucor is receiving a large portion of the total return generated by the company

· How can it be greater than 1?  Well we have a negative interest expense.  Nucor’s investments must generate a greater interest revenue than interest expense created by its debt.
Debt/Equity Ratio

I like this ratio though all it tells you is whether a company has more debt than equity or vice versa it really is neutral in a lot of ways but it’s still important to look at.  Generally the number is below one though the average creeps up pretty close to one.  1986, last year in case terms, has the lowest ratio this means they have been paying off debt, as I predicted from the ratio above.  The year with the most debt to equity is 1973 so they likely made a large investment financed by debt then and have worked hard to pay it off through earnings/positive cash flow.

S says though my comments are in italics:

· For the last 20 years, this has been decreasing.  From 1982, it has decreased from 0.7 to 0.5

· A low d/e ratio means the company is financially quite stable.  It has few fixed costs due to interest rates that could increase the volatility of its net income.  It’s quite safe investment and has low risk of bankruptcy.

· However, is this ratio too low?  Does Nucor have room for debt?  Could Nucor borrow more and invest and generate more ROE for its shareholders?  Musk says don’t be greedy S.
· PS Psychologically investors are torn by greed and fear.  A high D/E can increase your revenues satiating your greed but also increasing your fear (risk of bankruptcy).  Risk is a four letter word.
Long Term Debt

Although I’m trying to forget what was said before me I seem to recall this one is contestable so I’ll have a look at it.  Basically this number is always low and getting lower.  This means they do not have a lot of long-term debt and what debt they have has been paid down.  The other way to look at this is long term debt is constant or growing but shareholder’s equity is growing faster.  This ratio peaked in 1972.  This is consistent with my scenario above.  In 1972 they borrowed money long term, in 1973 they were squeezed for cash and borrowed more money short term this is why D/E spikes in 1973 and long-term debt spikes in 1972.  Since then they have kept the debt under control as it relates to their shareholder’s equity.  A look at the raw numbers (my first of the morning, as I remember how the ratio question was on the accounting exam, ie no raw numbers) long-term debt continued to increase past 1973 however so did share holder’s equity.

S says:

· From 1982, this number has decreased as a percentage from 0.13 to 0.07

· Measures the use of long-term debt.  Companies that have long-term assets usually have a lot of long term debt. 

· However, Nucor have been paying most of it off but its current liabilities is increasing.  Is this a good sign?

Solvency

Anyone paying attention in class should note Steve Alisharan really likes the Quick Ratio, however we can not calculate it in this case.  We’ll have to make due with the current ratio and interest coverage.  Normally I just do quick and current here and I think I’ll simplify that to just current ratio.  Nevertheless, based on debt positions and profitability there is no doubt in my mind Nucor is solvent even before looking at the solvency ratios.

J says: Nucor did not have immediate cash flow problem because of the $185 million cash and short-term securities on hand.  However, if Nucor persisted on its policy on restricting debt-to-equity ratio and not issuing stock, the cash and short-term securities were barely able to cover the current liabilities and Nucor’s capital commitment in the JV with Yamato Kogyo.

Current Ratio

Basically if this number is over one they have more current assets than current liabilities.  It is easy to understand and calculate, over one good, below one bad.  The average is over 2.  Even the worst year 1980 with 1.74 still shows good enough solvency.  Nucor has an accountant on the board of directors who has been with the company for years he is going to make sure a key ratio like this looks good.

S says:

· From 1982 on, ratio has improved from 2.0 to 2.5

· However, it is difficult to speculate if this is really good without a quick ratio.  Has CA ballooned due to inventory (not good cuz not selling the stuff) due to Accounts Recieveable ( not good cuz not collecting those and increases in Accounts Recieveable is a sign of growth which it is.  However case states they retain pretty decent collection policies.

· Current Ratio is over 2 which may mean Nucor is not investing its Current Assets efficiently.  However a large Current Assets could also mean it is stockpiling cash for a possible expansion which makes the most sense.
Asset Turnover Ratios

These are my least favorite batch of ratios.  Maybe in retail sales or something they are important, however to me conservative investor I can’t get too excited about these either way.  If I have to look at one I’ll choose total asset turnover as I think looking at the total asset base makes sense especially in an industry like steel which has high capital investment requirements.

J Says: There was a downward trend for both ratios across years, meaning that the managers were not managing the company’s assets efficiently.
Total Asset Turnover

Bigger is better here so 1974 has to be considered the best year with a ratio of 2.74.  This is just after the period I hypothesized they made a major investment.  This is likely a result of new capacity coming online and generating additional sales.  The capacity however was paid for a couple years back.  This scenario likely plays itself out several times whenever a new mill comes online.

S says:

· Since 1982, has teetered between lows of 1.3 to highs of 1.5.  No real pattern

· They have been able to generate the same amount of revenue out of each dollar invested in assets. 

· Since they have been growing, they have grown effectively and efficiently.
Other Ratios

EPS and P/E ratio are big with the MSNBC set.  I always mention this and I always comment on this.  However I personally am not a big believer in either.  I think dividend yield is an important ratio to consider as a conservative investor and I would want to know cash positions such as revealed by the missing Quick Ratio.  I also am a big fan on industry, competitor, and macroeconomic data even though I failed the macro final.

EPS

True believers in this will like 1985 where it peaked at 2.74 and likely would buy the stock then.  They would have dumped the stock or not held it in 1972 and missed all the profitable growth over the last 14 years.  Yet further proof to not put too much faith in this ratio.  It’s often repeated, buy on rumor, sell on facts.  As I inferred from ratios above, Nucor is paying off debt, stock piling cash for a major investment.  From the case we know this is the Japanese joint venture and possibly the new thin casting mill.  Whether these will be profitable and how soon isn’t clear, though I bet the stock price is spiking and sure enough it is in 1986.  Of course buying and holding in 1972 would have yielded a nicer return over just buying in 1985.

P/E Ratio

Even more quoted than EPS is P/E ratio which measures the share price over EPS.  This is often given as the one number that proves the stock is good and there is no such number.  Do not forget this.  Once again bigger is better for some, though from a conservative investors point of view a high P/E means the stock is probably overvalued, growth investors particularly during the dot com boom just kept buying…  long live Warren Buffet and value investing.  Anyway this peaks in 1983 which is the end of the worst period in company history (1972-1986) as measured by the profitability ratios.  Buying the stock then might not have been too bad it was averaging $16.27 a share.  You could have doubled your money in 3-4 years easily enough.  Of course buying at a buck sixty and holding it for a decade would have in returns several thousands times your investment.

Dividend Yield

I became a fan of this ratio at the end of the dot com boom, as conservative companies such as the CIBC which has not missed a dividend payment in over a century are not going to cut dividends, in bad times you can still get a return here.  Unfortunately we can’t calculate this though surely you need this to calculate stock price return.  Perhaps Nucor pays no dividend, this isn’t completely clear but it is definitely approaching lunch time (1:00pm)

What other information would you want?

This question is always asked and I’ve always gotten full marks on it.  In my opinion these are easy marks and should not be lost.  However this time we are given some competitors information but more on integrated and minimill producers and even some foreign producers would be good.  Balance sheets, cash flows, and Income statements for Nucor and its rivals would be helpful.  We are given some industry average data and some information contrasting the methods and associated costs of steel production but more would be useful.  We are given some Macroeconomic data such as PPI and even some scraps of economic data circa 1986 with A-rated corporate bonds at 9.41% and T-Bills at 7.62%.  More information on interest, exchange, and inflation rates would be useful.

